Electronic component -PCB Terminal Hankook Fastener

¢1'§1 3 Test Pin
S8
¢ MATERIAL:GOLD PLATED BRASS

<< ¢ UNIT:mm

oM
Snak PARTNO | PACKAGE

o TEST-31 2000
_

J—L¢O.7

Fuse Holder
L —E

L [ \
0 e I H

Hﬂ @/

O
L o MOUNTING HOLE Jf MOUNTING HOLE
[sm}
| 1
A 'u‘t:O.Ar A et =04
FUC-01 FUC-02
 FUC-01 MATERIAL:PHOSP HOR BRONZ E PARTNO | A B C D E F G | F R 44| PACKAGE
« FUC-02 MATERIAL:C2680 FUC-01 | 40] 78] 52| 33] 3.1] 38] 1.2 236 1000
# FINISH:TIN PLATED FUC-02 | 64 95 65] 35 48] 51] 1.3 %5.2
& UNIT:mm
« MATERIAL:BRASS
kEﬂ « FINISH:TIN PLATED
:| ¢ UNIT:mm
P16
- L _$__
© MOUNTING HOLE
ﬂ JLD
PART NO Bl C | D] E | F | G [ &k ik PACKAGE
FUC-03 6.8 8.3 0.4 6.0 1.4
FUC-03A| 6.4 | 88 °° 6.3 67 95.2 1000
FUC.04 | 8111091 681 %°[701 751 " [ 4623
34+
— 1.2 0.6
¢ f « MATERIAL:TIN PLATED BRASS
ﬁ@ 53. « UNIT:m
_l;' HOLE IN P.C.B #1.2~%1.3 PARTNO | PACKAGE
PIN-1 2000
PARTNO | PACKAGE
HOLE IN P.C.B: #3 PIN-2 2000
8— 5 ~#1.7X4
11 9%
Jeo N
TP

~1.5  MOUNTING HOLES

PARTNO THREAD [ PACKAGH
PCB-1 M3X0.5
PCB-1(M4) M4X0.7 1000
PCB-1(6-32 [ 6-32UNC




Hankook Fastener

Electronic Component - P.C.B TERMINAL

& MATERIAL:TIN PLATED BRASS

PCB-8

M3X0.5

PCB-8(M4)

M4X0.7

PCB-8(632

6-32 UNC

1000

8.5~
—-0.8 & RATED:15AMPS
g I
e T kv =l PCB-2 M3X0.5
T - PCB-2(M4) | M4X0.7 1000
ﬁ | PCB-2(6-32 | 6-32 UNC
i
J‘ % 16
5
#1.8x4
MOUNTING HOLES
PCB—4CV HJEIGPCB— 4% 1 FH
EAnTY:
2.0 T
! :t & O 0
| <o Q B o
:ﬁ LO o o ! L 5.6
- 7.5 < W F ' Tﬂ
0 Yo | |
M
“# 4€;1-7 ¢4.2aL—4J+|% * o
L;’ MOUNTING HOLES ~
4.4

PCB-4 M3X0.5

PCB-4(M4) | M4X0.7 1000

PCB-4(632)|6-32 UNC

M3X0.5
M4X0.7

PCB-7
PCB-7(M4)
PCB-7(632

1.1
F*S.SS*

Lt
.

1000

6-32 UNC

57
AR
e
Qﬂi¥4-—¢51.8
MOUNTING HOLE

!
“
~

92—

9

— THREAD

K.Y

P

}
ikt

e

4-1.6

HH—

F-36

PCB-9 M3X0.5
PCB-9(M4) | M4X0.7 1000
PCB-9(632 | 6-32UNC




Electronic Component - P.C.B TERMINAL Hankook Fastener

& MATERIAL:TIN PLATED BRASS
& RATED:15AMPS
¢ UNIT:mm PCB-10 M3.5 1000

-7.9- o
4-

o
0

I
d \_4-92.0
M3.5x0.6P  MOUNTING HOLE

-4 PCB-11 M3
\ ‘ j PCBA1(MA)| M4 1000
T PCB-11(632] 6-32UNC

MOUNTING HOLES Ncg—32 FOR PCB—11(STP
CAN COOPERATE

SCREW USE

j4.6ﬁ
o
38
DRy gr
MOUMTING HOLES PCB-12 M3X0.5
1 PCB12(MA)| M4X07 | 1000
1O PCB-12(632| 6-32UNC
] ;
0.8k ~13.3 S

. T

EE 2

| S _
PCB-15 1000 M4x0.7

|
Fo T 1
b3E O T
L12.5ﬂf0'8l5 R
74 ETAB SIZE
‘ ‘ £ ——+—5 —=— —+—5—=— g2.8
L ~+ — | PCFS2505| 0.5X6.35 D& P
© 5
?'7/ 4[ 0.4 ﬂ:f $2.8
PCFS2508| 0.8X6.35 &-

U 1B SIzE NIRRT
»H.Sq {#7{1%/

o 91 wountine HoLe

PCFS250L | 0.8X6.35 0.4




Electronic Component - P.C.B TERMINAL Hankook Fastener

6.35 & MATERIAL: TIN PLATED BRASS
#1.7- ¢ UNIT:mm

32
|
LS 1.25 PARTNO | PACKAGE
o 85+3 5+ 1.4 PCH250 1000
‘ﬁgﬂﬂjm} & -
3 MOUNTING HOLE -
™ ]‘jT
$1.7 L
T
_ 4{ A
PARTNO | PACKAGE >
PCK250 1000 q
[ve] 4 ~
irrkgjjo T:T
~ Qm‘ﬁ# MOUNTING HOLE

72.81‘_[ j:w A —

g1

I PARTNO | PACKAGE
| | PC110 2000
AT
4—
HOLE IN P.C.B #1.7 . [ -—IO,8
4?1\
PART NO | PACKAGE T

PC110-1 2000

PARTNO | T | D | PACKAGE
5 PC110D5 | 0.5 | 1.3
PC110D8 | 0.8 2000
. 1.15
- =
TR gp
MOUNTING HOLES T4 ST

PART NO T D | PACKAGE

KLY
PC187 0.5 2000 { ﬁ:. ©
~M

_‘_\
e

PC187(0.8) [ 0.8

F-38



Electronic Component - P.C.B TERMINAL Hankook Fastener

5.2 .
& MATERIAL:TIN PLATED BRASS 6.35 0.8
l_—TT T « UNIT:mn F:L [o1.7
Ny 318 o 7
- = [ PARTNO | PACKAGE <
® J PC205 1000 j—i‘
L Lﬁ
o g 08 PARTNO | PACKAGE| - #2 -
b pc250 | 000 | 15T

MOUNTING HOLE MOUNTING HOLE

—0.81

& MATERIAL: PLATED NICKEL BRASS
& UNIT:mm

PARTNO | PACKAGE

25.17

i PC250-4 1000
133
T 372
e 1
~ .
| 4=

PARTNO] T | PACKAGE .
PCF110 | 05 5 ~p1.
pcF1i08] 081 0% o¢f

0.8 16—
13.4 r
3.3 —g1.4 0 {
N © H ) =
K.Y o — =

N e
I L
5 ,#1.5 $7@/ '

D
MOUNTING HOLE MOUNTING HOLE
PART NO T PACKAGE PARTNO | PACKAGE
PCF187(5) | 0.5 1000 PCF250 1000
PCF187 0.8
100 ‘
—-+15 0 — o
-8 4.5 “No
I:ﬂiw—wm PARTNO | PACKAGE
1.3 gpiteh pitch
‘ﬁ ﬁ‘B 2844*7-95 PCF250-7 500
TOT 915
4},
MOUNTING HOLES
20—
617 | = £

mjj PARTNO [ PACKAGE
PCFL250 1000
T et

MOUNTING HOLE
F-39




PC # /& £2um + P.C.B TERMINAL Kang Yang

o MATERIAL:TIN PLATED BRASS

“6.35& 0.8 o UNIT:nm
. PARTNO | PACKAGE
TOT 14 PCR250 1000
G}%’v’/
MOUNTING HOLE
o7 —¢1.4
%%9/ PARTNO | PACKAGE

PCRS205 1000

MOUNTING HOLE

o0

o

ey PARTNO | PACKAGE

ce]
&4
3 PCRS250 1000

57 1.4
:Et o—&
8.3-4 MOUNTING HOLE

3.5 ;

PARTNO | PACKAGE
PCRS250-1 1000
PARTNO | PACKAGE
PCRN250 1000
00
o
f
[a\}
o~
o<
N)'F
PARTNO | PACKAGE
PCRS187A 1000 17 =038
5.08 4 5.08
o %J%
a—t #1.4
21 MOUNTING HOLES

F-40




Electronic Component - P.C.B TERMINAL Hankook Fastener

o MATERIAL: TIN PLATED BRASS

PART NO

PACKAGE

PC12250

1000

F-41

.
.

MOUNTING HOLES

A & UNIT:mm
!
ﬂm“’ 7 PARTNO| A PACKAGE
™ PCR187 0.5
¢ W —s g3 [PerisTEe) 08 1000
P
1.2 MOUNTING HOLES
0.8
| ?T
e \ PARTNO | PACKAGE
j * = PCR250-S 1000
T 5= —#81.5
7 Iy
1.2 MOUNTING HOLES
PARTNO | PACKAGE
PCTL-3.5 1000
7,62+ 4-$1.25

¢4.3*\C>

B

30.7

PARTNO | PACKAGE
PCU250 1000
PARTNO | PACKAGE
PC1L250-1A 1000
= 8.1
e T

T




Electronic Component - P.C.B TERMINAL

Hankook Fastener

& MATERIAL: TIN PLATED BRASS

F-42

¢ UNIT:mm
48 0.5
Lreo T
M N
514 U o jm PARTNO | PACKAGE
AT PC1L187 | 1000
¢3.7t—#
76 7.8J
4.9 TO'S
IRE
G i — | PARTNO | PACKAGE
= l PC1L18704] 1000
p4.31 - AN
57
BSNE 7 1
T m ) QTL PARTNO | A | B | PACKAGE
p- 4"
< | Ky /4 PCLT-10_[10.0] 30 1900
— - e PCLT-11_|11.0 | 4.0
m
i 1L 43
AL, 1 MOUNTING HOLE
4.15
' )
o) P - =
L = 2 O] o]z
SISO " a
- 1 g1
L 75 \\%@
. Q\' Vo .
g &s 153 T J '
> J
PARTNO | A | PACKAGE | PARTNO | D | PACKAGE
PC1V187 | 35 PC1L250 | 4.3 1000
PC1V18704] 4.3 1000 PC1L25005] 5.3
PC1V18705] 53
PART NO D PACKAGE |
PC11250 43
PC1125003_| 3.2
PC1125035 | 35 1000
PC1125005 | 53
PARTNO | PACKAGE
PC2L250 1000




Electronic Component - P.C.B TERMINAL Hankook Fastener

2 & MATERIAL:TIN PLATED BRASS
=, . o UNIT:m
AN N
JZ e G
4 A
TAB SIZE: 0.8x6.35
" |PC2L25005 | 1000 |
~—8.5
I —7 T
**1.5_1
00 | 1
© o «©
| ”ﬁi_mz @j |PCSL110028| 1000 |
N

0.8

11

| PC3L25004 | 1000 |

| PCZL250-90| 1000 |

& MATERIAL: NICKEL PLATED BRASS

¢ UNIT:mm

GND-1 32| 16] 55| 143

GND3A [ 41246511551 0%
GND-2 | 3.2 2.1 6.4 12.6] 40[0.25] 00
GND3 | 43| 2.0 | 8.0 |17.7] 4.6
GND-4 | 52| 21| 9.9 196] 5.1] 0.3
GND5 | 83| 1.9 [10.0 | 15.0 1000
GND-6 | 9.7 | 2.0 [13.0]215] 40 [0
GND-10 | 6.3 | 2.1 [10.0] 19.9] 5.1 2000
GND-11 | 9.0 | 2.0 |13.0|30.0] 40| %3 [ 1000
GND-17 | 4.2 6.8 | 12.9
anD21 1371 "6 [6a126] 32| 04| 2000

F-43



